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36. L7
s.05 O (64 x 3z') (zz x 5) = Gr 4 p. 22

4 = CO write "Thirty divided by six', using symbors\7 t;-;;."."ii f t-s-r-"r,t *uyi'.
(Answer: 6 f30 30/6 30i 6 )

O How many endpoints does a line have?
DAY

c
o

7 4/B
+3 4/8
Label

CD 3 z/3
- -L L/3

6f Bz
-*80

=rtAnQ irow many endpoints does a ray have?
DAY 111

@ 316+48 =

the following as square, rectangre, parallerogram, or triangre.

O s6.7 + 8.42

@ 55L z 24 =

53.07
-51_.93

O rirr in wirh +, -, x,

@) use <, >, or =
DAY LLz

O (600 x 32) (434 x zo) =

23 ,421

or+
22,386

20 {-4

Cr)32/6v +8 3/6
O) 4 3/s
-- 2 L/9 V x300 O ss6 ;3i- =

O rirr in rhe *;"it", n:*?:tO Name this _geometric

DAY r-13 
fisure 

D

O 727 .gL + 98.6 = 2936.7
-1965.7

What will the

(5 x 4') + 872 =

340 : 83 =
be 100 days from now?

L3 = 7

o
@
date@ roday is March 15rh.

114 @ FiII in the missing number:
DAY

@

o
7 /L5

+5/L5

Name

4/9
-3/e

(}r 63\__-/ x! @ 6Be3+ s2

441
315 0
3597

DAY 1].5

this figure.
@ Complete: 5 x = L5


